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ugﬂ TO USE THE ANSWER SHgﬂ

1. " Use only an ordinary pencil . : :

2. ‘Make sure that you have written on the Answer Sheet ' ’ ) . s T R ime:-2
(i) YOUR NAME k (If) NAME OF YOUR SGHOOL : i

- ~:Wnt@: one hundred and seventy thousand sxx 8. Whatis the: next number inthe pattem be!ow?
“ hundredand eighty - ol 7,9,12,17,24,
~Af007680, .1 A3 B.35
. BA70BO - - | cC 2 . D.a1
_#..c.107860 . .- ~

. .D. 17680 T ' 9. Whatis the sum ofpnme numbers between 10

' R ) -~ and20?

" AB0 .- ...B.49 _

c.41 Dz

T -
§

2. ‘What is the total value ofd:glt3m§'ae n erd -
- 436517
A3 . | .
-B.30 1 10.  Write 7750 m into kilometres -
.C.8000. - -1 AT77.5k B.7.5km
LD. 30 000 | > C 7Y km

i
4

e
A

Rotnd off 95648 tothe nearest hundred 1. Simplify /., into the simplestform
wota AL 95600 ~ B.95700 ety e
| ”?\f‘c_C,. 95658 D 9574,8, o A.Glg . B

R ,_thch ofthe followmg numbersrsdmsnble by - "C ‘l ' - D
. .eonly? o 2 Subtract 1. 1’2“- S
P A224  _pes = | | | L
C. 184 S D.?'123' . 1 AY, ,» B.%,

B _What is the place vaiue of dlgtt 3inthe}  C.7, Do,
¢ difference of 5248 and 41167 B s T e M

4OA Hundreds - TB. Thousands -} 13. Change 8%, intoimproper fraction

C.Tens. —_— D Ones RTRE T ' ‘ S

= T

-

" 6{ What lsthe GC. Dof24 40and 64 A
A8 j___s.sz S _c_:_‘.4=»/s Dby
l.ceo - D8 Ll |

{ .

ik 114 There are 2784 pupns in Kieni an&ctmol
Subtract 821 611 o S e "':'if there are 1493 boys, how mamrgrrls ate
A2, o 13?2””“7»'6 Tl Lthere? S

S IR A 1291 B.1311
c. 1511 g "’;’j"*:w”" R ”c 4277 n‘»r1,391ﬁ T
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43.

&

40.
41..

‘42, .
AT

a5,

T e

N

15. The penmeter of the rectangle is 84cm lfthe

lengthis 24cm. What is the wsdth?

A. 18cm -B.. 32cm

C. 60 om D. ﬁ36cm
16. What is the L.C.Mof 16, 24 and 32 ?
AT72 B.8 . o
C.96 D.108 .

What is the perimeter of the rectangle below?

r

"ncm 3som .
A. 10 km 850m .. B.20km 1‘750m
C.21 km 650m D21km 700n

18.
factorization of 487 -
A 2x2x2 X 2 X 3

. B.2x3x4x2
C.2x2x2x3
D.3x4x4 .
What s the place value of dlgrt 3inthe number
74.6305 ?

A. Hundredths

C.Thousandths
« S

19.

B.Tenths
-D.Hundreds .~
Write 4/, as decimal

A.0.5
| c 0.75

20. :
B.0.4
D. o. 8

P 1. : Arrange the followrng fractlonsfrom the Iargest
- | 26. Workout 4.76+36+9 2

 tothesmallest ¥/, 2I..;, Uy Y,
YOAAS Y,

4 a7
B.Y, Uy Uy,
'a%%%m

WDy Y e

g i T s i S e T A T NS R e T B . L
L TR B & SRt YRS < e e T T e T Dy

3km s00nT -

Which one of ,tne'fbnowing is a prime

S oo e e oo s e e Ll
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22. --What s the area of the figure below?"

|

20f0 -

D. 800 m?

A.700m
C.110m?
Write 69 in Roman numerals

A LXIX B.LXVI
"~ C.XLIX . D; XLV

23,

Work out :
km - ‘

24.

A49km 920m_ B.48km 1920m = .

- \\:;t’:.‘49_km .820m  DI48km 920m

A 144 cm3
~C.z88 cm’

B 22 c:m3 _'
D. 248 cmﬁ

B.49.98
D.17.56

£.40.76

27 How many days are there in January. Febmafy }
and May of a leap year? Tk

A9 8.92

€. 91 ~D.89

005 YEAR 3005
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o CeTY,

ﬁ ;29.

) c.evkg

A.8',kg

Cvmews CRERe R T e e T

. Muiltiply:
- 6%, x12=

A. 725, _B.78Y,

 D.79 ,

Complete the statement wnth the correct factor

’ 4[ -?I

A20
c.12 -

B.16
' D.24

Convert 8250 g into kilograms

| B.82,kg
NN -

D.8%, kgi

. .

Wh:ch one of the foﬂowmg dlagrams shows a
reﬂ“exangl’e ? - -

R R AR R

sa

A T e R T T T A

33,
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Multtpfy 48. 72 by 8.
A.369.76
C.389.76

B.389.66 .
D. 32476

Wbrkout:.

“H 7 mins
8 . 20

-5 35

 A.2hrs 45 rfiins

Whatis the value of yin the equataon

B.2hrs 85 mins

C.3hrs 45mins D. '1‘3‘*ﬁrs. 55 mins.

 y-8=147

}36..
L weighed 90kg whatwas the total mass?

A 22"
C.6

B. 8
-D. 24

#

Moses bought 24 bags.: of vice. i each bag

§ kg”““ SRICICEof / e V s“"
D. 2140 kg S T,

. 'Simplify the expression- below. e

k_'v2y+4x+3y- ’

| RO
© C.By+ 4x

C. 3km 50m

: z‘below’? RIS

L DI‘4x +6y
Dmde 18 km 250 m by 5

A 3km -850m  B.3km 750m
D.3km 250m :

W

-What ;s the s;ze of angle marked X m the ﬁgure

D.75°

R 77X R




40,

© 41.. Muttiply 2944 by 46

s

- c sh700

Work out:

322 litres 992 ml +
A.B0L 748ml
C.8L 748ml

4=
B.80L 2548 mi
- D.80L498ml

A. 64
C. 135424

B. 12424

~.

L 42. “Whatis t%ﬁ-arga of the shaded pa&? -

“B‘ 120 m?
D 200 m2

~A.800m? |
"C. 400 m*

Keter boughi the followmgm', ¥
z kg of rice-for h 240

‘1 kg of meat at sh. 350

A textbookfersh 210
* How much money did'she pay?
A.sh800 - " B.sh 1040

D.sh 810

B. 2012

-A. 2002 D e
D 2034 T

- C. 2005

ls15m fndthewndth e 2

'5’“ B.45m
' D.12m

ABm
Cﬁm

'A'-WL BWL""

C1‘IL

. The area of a refitangle is. 120 ml ttﬁe length

47 WOrkout'

D.135324 o f

= 44 Whlch one of the following years is a%eap year? e

Mercy “ada” titres of il Shegave1=/ lires | b=
B "-_ ofitto herdau@hter How much mﬂk Femamed?

' wks
7 5

" ‘f.*‘ ) ' 6

s,A 13 wks ﬁéﬁs
_C. 13 wks 1day

,A 65° ..

B 12wks 4days
-D. 1wk 6days :

The perimeter of a square belowi is 186 m. What
isthe length’? -

%,
£

P 126m +

= |
¥

f anglegfmarked x in the figare = .|

“The table below shows the number of
) ;vehsclasrecorded by pupils in or
it to answer guesﬂgn 50

-fally marks

Lorries

J{H—I

-Cars

Taxis |

/IH

HOW m.any
AL 18 *

UAREEE . 2

veh |clesxﬂﬂ the p\up ils see .

~B.30
7 D. 26
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